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13, ' SHORT SALE o LONG CALL

A trader shorts one share of a stock index for 50 and buys a 60-strike Buropean call
option on that stock that expires m 2 years for 1'9 Assume the annual effective risk-free

interest rate 1s 3%. .
AL T (s0.02

The stock index increases to 75 after 2 years.

1) is realized h Lbe?

Calculate the profit on your combined position, and determine an alternative name for
this combined position.

Profit Name

(A) —22.64  Floor
: ®) 1756 Floor) Lon‘f) Stock. + LO“S Pude
Short Sheck + Long Call

?(C) 2264 Cap
G D -1756  Cap)
X(E) 22,64  “Written” Covered Cau)wfﬂ\En cal)
o] 'Y
long stock

Qyrrent price of a non-dividend paying stock is 40 and the continuously compounded
risk-freSgpterest rate is 8%. You are given that the price of a %5-strike call option is 3.35

exceeds the price of an erwise equivalent 35-strike put option.

(A) 155
B) 165
(€ 175
DO) 325
(E) 335
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Taiked Cost: -5 +40=-4%0O

‘on}f\- (SCD=RS5) = =60 — o, (-40)

2.
= =60 +40 (’\.O’J} = ~.4q..5g5



62.

The price of an asset will either rise by 25% or fall by 40% in 1 year, with equal
probability. A European put option on this asset matures after 1 year.

Assume the following:

Price of the asset today1 100 = S(Q‘) S('\\ ~ { :

=|K =130 160w VW‘“’J@ Yy,
Annual effective risk f.';ee rate: 3% \IP (=3

Strike price of the put option: 13

Put option premium: 7

125, wl prdaclo. ¥,

1=0.0%

Calculate the expected Broﬁt of the put option.

(A)
(B)
©
D)
(E)

12.79
15.89
22.69
27.79
30.29

In generdll’
E [Rojet) =E{Rouelf - Florr (Taitcout]
= E [Pyl T - FVo 7 (Toit Cost)

Tn this Pm\o\om‘- Yha \:o.ﬂogg.’ Sndkion a:H\qd‘

Np(4) = v 5(4))

Ve (A) =(K-»),
1) Q[ \:m\ocdo. Vo
o w on\oa)o. Ao

Ve(d] =5-3+304=235

ot ] = 353 (o) =

=30.29 =7‘4 @ o
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61.

An investor purchased Option A and Option B for a certain stc q}(oda y, with strike prices
70 and 8“0 respectively. Both options are European one-year put options.

KA(K

Determine Wthh statement is true about the moneyness of these options, based on a

particular stock price. ;
N‘N\Mc’t : Kpost) =» Kg)S('\:\ 3

@(A) If Option A is in-the-money, then Option B is m-the-mone
———— tﬁ@;‘!}%@‘%@r@ &N
(B)  If Option A is at-the-money, then Option B is eu he-meney.
(C)  If Option A is in-the-money, then Option B is out of-the-money. (@@.ﬁs?@%&g@ @‘% CAN

(D)  If Option A is out-of-the-money, then Option E is in-the-money.

Counferexampla:  St)=84

E) IfOptlon A is out-of-the-money, then Option B is out-of-the-money.

CWQ.MPL& 3&) =35

1

The current price of a stock is 80. Both eall and put options on this stock are available
for purchase at a strike price of 65.
K =65

Determine which of the following statements about these optidns is true.

X (A)  Both the call and put options are at-the-money. S(O\ * K
" (B)  Both the call and put options are in-the-money.: NEV%@?
¥ (C) Bothth i - " '
©) oth the call and put options are out of—the-mo?ey. N@W@%
T (D)  The call option is in-the-money, but the put opt{ion is out-of-the-money.
7( (E)  The call option is out-of-the-money, but the puﬁ option is in-the-money.
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